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�������� 
      � ������� ��	��
� ���	��������
 ���� ������� ��
������ ��
 ��
������ ��� ��
��� ���
���� 
����� – �������������, ��������������� ��� ���
����� ���������, ��� �������� ��	� ��
����. 
���
��, 	
����
 �
� ��������
� ������
���� ������� �����	
���� ��
������ ��� ���
���� �����, 
���� ��
 ��� ������	�� ���� �� ���� ��
�� �����, ����� ��
 ���	��� ������
�� ��� ��
������.  �
��� 
�����
�����
 �
 ������� �
�����
���	���� ��� ������, ������� �� ���  ������
�� 8 (EC-8) ��
 
�
� �������
� ��� �
���� ��
������ ACI-ASCE 752. 
 
1. ����
�

 
      �� �������� ���� ���� � !����� � "��#� – $!���$%&'(�&� ����� �"������� �����'�� ��� 
�)� ��*(%��� �&� �������$#� �!%��' ��$ ��$��" '����. 
 ��"+%&�) ,%(,)� $!�,�-'�.�� 
�)� ���'/�� ��$ * ������ ��������$ ��� �")��� �� ') �%���0'���� ���������' � ���(��&�.  
      �� �$�+-��� ,%(,�� !�$ !���$��(.����� ���$� �0',�$� ����� ) �$����,+ ��$ 
��$��" '����, �� %1���'� �&� "��'+�&� �(,"&� �2������ �)�  %%��/)� !$��#� �$�"��+�&� 
��)� !�����+ ��$ �0',�$, ) �!��0%%)�) ��$ �0',�$ �!0 ��� �$��� ��$��� "���1� '� 
�!�� %��'� �� ��-�� �� �%0�&'� �)� �1�"��)� ��� �)�'��#���� �� 0!���� �� !�#�) *(�) 
-� !� !�� �� -�&��1���� �"������� ��)�$�)��� � . 
      ��0��� ��$ ���"���'�1 ����� �� "���*�%����� � �1!�� �������� !�$ ������)��.���� �!0 
��� ��)'����'0 !%�����#� ��-�#��&� ���� "���1� !�$ �$��� ��$� ���� �0',�. 
 
2.   ����� �������� 
      ��� ��+'� !���$��(.����� �� �1!�� �������� ���$� �0',�$� [9]. � ��)'����'0� 
!%�����#� ��-�#��&� ���� "���1� (a) ����� � �!�-$')�0� ��0!�� �������� ��# ��� 
$!���$%#'��� (b) �����  ') �!�-$')�0�. 
 �!�*%��&�) �)� �!��(%$/)� ��$ ��$��" '���� 
�&� !����#� ��$ �0',�$ (c), '!���� �� �")�+��� �� �)'�����+ '��&�) �)� * ��$��� 
����0�)��� ��$ $!���$%#'����. 
 ������� �)� ���1�&�)� �&� "��'+�&� �(,"&� �)� "���1 
��)� !�����+ ��$ �0',�$ (d) �")��� �� !�#�) �)� �����+� ��� �� �)'����� � ��!�� � 
����* � ��) "��!�*(���� "���1-$!���$%#'����, !�$ �$��!(����� '��&�) �)� "$���'/��� 
��$ �$��+'����. 3 %�� ) ������� ��$ �0',�$ �!0 "�(�')�) (e)  ��� �$� !���� ��)� �����+ 
��� �)� "$���'/�� ��$ �$��+'���� !��0'���� '� ������� �)� !��)��1'��)� !���!�&�)�.   

        ��.1    31!�� �������� �$�" ��&� "��#� $!���$%&'(�&� 
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                  (a) �2(��%)�) !%����'0�)��� "���1 
                  (b) �2(��%)�) !%����'0�)��� $!���$%#'����  
                  (c) �!�*%��&�) �0',�$ 
                  (d) ������� ���1�&�)� �(,"&� "���1 
                  (e) ������� �!0 "�(�')�) 
 
3. �
�������� ��������� ���������  
      �1'*&�� '� ��$� Park ��� Paulay (1975) [9] ) �$��%��+ � '��$�� ��  �� �0',� 
'���* ����� �*��0� �!0  �� "���#��� -%�!�+�� ��$��" '���� !�$ ��)'���.���� '���21 �&� 
-%�,�' �&� �&��#� ��$ �0',�$ ��� �*�� ��$ �!0  �� �"���0 "���1&'� !�$ �!���%����� �!0 
���.0����$� �$�"��+���, �����0�$*�$� �(,"�$� $!���$%#'����, �!0 ��� "��'+�)� �(,"�$� 
�)� "���1 ��� �!0  �� �1��)'� %�2#� -%�,0'��&� �(,"&� ��$��" '����.  
 
 
 
 
 
 
 
 
 
         
        ��.2     ���� %� '���*��(� � '��$��� ���� �0',�: 
               (a) �)�����'0� "���#���$ -%�!�+�� ��$��" '���� 
               (b) �)�����'0� "���$#'����  
               (c) 3$!�� � �$����#��� ��$ "���$#'���� (�*�%�$0'���� �(,"�� �(%$,�,     
                     -%�,0'���� �(,"�� ��$��" '����, "$�('��� �$�(*����).  
 
4. ��������� ���������� ������ EC-8 
      
 �$�+-) ���)����� !%����'0�)��� '� �)� �!��� ���"�(.����� �� �������$ � ��)� 
�%%("� ����� ) ' ���� ‘�’ ��� �)� �!��� ���1�$� �� !����(�&.[1] 
      
�� ��� $!�%����'0 �&� "���')���#� "$�('�&� !�$ "��$� ���� !$�+�� ��$ �0',�$ 
��)��'�!���1���� �� ��0%�$-�� ��*�(����: 
� ��&������� �0',�� 

Vjhd = �Rd 40.6674(As1+As24q/5)4fyd-Vcol                                                                           (1) 
� �2&������� �0',�� 
      Vjhd = �Rd40.6674As14fyd-Vcol                                                                                            (2)  
0!�$: 
� �Rd – '��&���0� �$���%���+� ��� �)� ���)����� !%����'0�)��� �=1.15 
� 0.667 + 2/3 - �$���%���+� � �!���� ")%#��� 0��  �� ' ��� �&� "$�('�&� �$�(*���� 
����$-1������ ���0� ��$ !$�+�� ��$ �0',�$ 

� Vcol - � '��$�� ���"���'�1 �)� !����(� ��$ �0',�$ 0!&� !���1!��� �!0 ��(%$�) 
� As1, As2 – (�& ��� �(�& �!%��'0� �$��� ��$��� "���1 

�� �� �2��*�%����� ) '���*��( � '��$��� "��' ��$ ��$ �0',�$ !� !�� �� �% ������� 

 �� !����(�&: 
1) 
 -%�/) !�$ ���!�1������ %0�& �)� -%�,0'��)� �(,"�$ "�� !� !�� �� 2�!���( �)� 
�����+ ��$ (�!%�$ ��$��" '����. 	0�& ��$ �����0��� 0�� "�� $!(���� ����, � 
!����'��&'� ��)��'�!���1���� �� !����(�& �'!������� �1!��: 

� ��&������� �0',�� 
      Vjhd 5 204�Rd4bj4hc                                                                                                           (3) 
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� �2&������� �0',�� 
      Vjhd 5 154�Rd4bj4hc                                                                                                           (4) 
0!�$: 
� �Rd - "���')���+ �����+ ��$��" '���� 
� bj - �����0 !%(��� �0',�$    
� hc - !%(��� $!���$%#'����   
�� �(��$'� '�� ���!�����'��+ ���$� 0��$� �)� (3) + �)� (4) ")%�"+ �� %1��$'� &� !��� 

�Rd  ��$'�: 154�Rd 6
Vjhd

 bj4hc
  .� "�1����� 0��� �)� ����0�)��� ����� ��'+ �(��&� ��� 

$!�")%#��� 0�� ) "���')���+ �(�) ��$ �0',�$ !� !�� �� ����� 15 *�� � '���0���) �)� 
,����+� "���')���+� �����+� ��$ ��$��" '����. 

�� �� �����0 !%(��� ��$ �0',�$ "�������$'� "$� !���!�#����: 
  a) �(� bc > bw �0�� bj = min{bc, (bw+0.54hc)} ��� 
  b) �(� bc < bw �0�� bj = min{bw, (bc+0.54hc)} 

2)  
��  �)� !����*)2) �)� !�����+� ��$ �0',�$, ���.0����� �$�"��+��� !� !�� �� 
!���,(%%�$� �)� !�����+ � ����� #���: 

       
Ash4fyd

 bj4hjw
 6

Vjhd

 bj4hjc
  - %4 �Rd4(124�Rd+vd4fcd)                                                                      (5) 

0!�$:  
� Ash – �',�"0� ���.0���&� �$�"��+�&� 
� hjw – �!0����) '���21 (�& ��� �(�& �!%��'#� "���1 
� hjc - �!0����) '���21 �&� �&����#� �!%��'#� ��$ $!���$%#'����  
� % – �$���%���+� � �!���� %�',(��� $!0/�� �)� "��- ��') "���')���+ ��������) ��$ 
��$��" '���� '��( �!0 �$�%��+ ����!0�)�) ��� �2���(��� �!0 �)� ���)����� 
!%����'0�)���. 
�� �)� ���)����� !�$ �2��(.�$'� %=1.0  

� vd- ��)�' �) �2����+ "1��') ���"���'�1 ) �!��� "������ &�: vd =
�c

 Ac4fcd
  0!�$ ) 

�2����+ "1��') ��$ $!���$%#'���� �c %�',(����� 0!&� !���1!��� �!0 ��� 
���"���'0. 

3)  �� !�� �� ��!�-������� �!���+� �����0�$*�� �!%��'0� ��)� !�����+ ��$ �0',�$ 

� �����  #���: Asv,i6
2
3 4Ash4 

hjc

 hjw
                                                                                        (6) 

0!�$: Asv,i–�',�"0 ��"�('��&� �!%��'#� ��$ $!���$%#'���� '���21 �&� �&����#� �(,"&� 
 
��"��( ' ��� �� �!��� !� !�� �� %�',(������ ��� ��$� ���.0����$� �$�"��+��� �����: 
� 
 "�('����� �&� �$�"��+�&� "� !� !�� �� ����� '���%1���) �!0 6mm. 
� H �!0����) �&� �$�"��+�&� %�',(����� &� s=min{hc/2, 150mm}0��� $!(���$� "���� 
��� ���� � ������ !%�$� � ��$ �0',�$ ���  s=min{hc/2, 100mm}0��� "�� $!(���$� ��� 
���� � ������ !%�$� �. 


�� ��$� �����0�$*�$� �$�"��+��� ��$%(������ '�� ��"�('��) �(,"�� -� ��!�-������� �� 
�(-� !%�$�( ��$ �0',�$. 
 
4.    ��������� �
� ACI-ASCE 352 
      �� �1���� !���"�� � �1'*&�� '� ��� �$��(���� �)� ��&� �& �!����!+� [3] ��� �� 
$!(�2�� �����!��)���+ �$'!���*��( �&� �0',&� ���( �)� "�(����� ����'��+� ����!0�)�)� 
�����: 
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� � %0��� �&� ��'!���#� �����#� $!���$%&'(�&�-"��#� !� !�� �� ����� '���%1����� 

��$ 1.40 ")%. �R=
� �c

 � �b
 =1.40  . O �$���%���+� 1.40 "���*�%�.�� 0�� �� !���!�&�) !�$ 

")'��$��)-�� !%�����+ (�-�&�), �� ")'��$��)-�� ��) "��0 ��� 0�� ��� $!���1%&'�. 
� �� "���')��� � �(���� ���� �0',� -� !� !�� �� �����!���1� �)� !����(�& �� �): 

     !4Vn6Vn  
0!�$:  
� !=0.85-'��&���0� �$���%���+� �����+� 

� Vn=� fc  ̀(psi)4bj4h   (7)  + Vn=0.0834� fc  ̀ (MPa)4bj4h   (8)–"���')���+ �����+ ��$ 
�0',�$ 

��)� ,�,%�����*�� �$����(��� �$��&� '� �)� '��*+ �=� fc  ̀, 0!�$ �!0 �)� (7) !���1!���: 

        �= 
Vn

 bj4h
                                                                                                                      (9) 

 
� �$���%���+� � �2���(��� �!0 ��� �1!� ��$ �0',�$ 0!&� ���.���� ���� ��0%�$-� !�����: 

 3�2��0')�) �0',�$ 
31!�� �0',�$  (�) ��&�����0� (,) �2&�����0� (�) �&����0� 

1 24 20 15 
2 20 15 12 

          ������  1.    3�' � � ��� �0',�$� "��#� $!���$%&'(�&� (ACI-ASCE 352, 1991) 
 
O �1!�� �0',�$ 1 �1'*&�� '� ��� ACI 318 ��#��� ' %) �� �!���  ��$� ���"���-��  '� 
�!���+���� �����+� ��)� �%�����+ !�����+ ��# � �1!�� 2 ��#��� ' %) �� �!���  ��$� 
$!����� ����!��+���� ��� �� ���%�����+ !�����+. 
��) �� �) (7) � 0��� bj ����� �� �����0 !%(��� ��$ �0',�$ 0!�$:  

      bj = min{ 
(bb + bc)

2  ,bc}    +    bj > bb+
h
2  

� � �!%��'0� �$�"��+�&� ��� �0',� -� !� !�� �� �����!���� ��� !����(�& �$�-+���: 

     Ash=0.3· 
sh·h`̀·fc`

 fyh
 ·(

Ag

 Ac
 -1)                                                                                          (10)  

      Ash60.09·
sh·h`̀·fc`

 fyh
                                                                                                      (11)  

0!�$:  
� fc – -%�!���+ �����+ ��$��" '����  
� sh– �!0����) �$�"��+�&� 
� h`̀– "�(����) �)� '���%1���)� !%�$�(� ��$ !$�+�� ��$ $!���$%#'���� 
� Ag ��� Ac–�!�*(���� "����'+� $!���$%#'���� ��� !$�+��  $!���$%#'���� ���������� 
� fyh–  0��� "�����+� �!%��'�1 �$�"��+�&� 
 
5.   ���������� �� ������� �	������ 
      
 "���')���+ ���!(����� �0',�$ '!���� �� �*��%���� ���� �� "���#��� -%�/) ��$ 
�0',�$ ���� �� ���!(����� �!%��'�1 [6]. 
 �����$�) �0',�$  ����� �������� �� "���#��� 
-%�/) !���'���!������� '� �12)�) �&� "����(��&� ��$, ' �& '��"1� �!%��' ��$ 
��$��" '����. 
 ���!(����� ��$ �!%��'�1 ��  �� �0',� ����'��&!�.���� �$�+-&� '� 
�����$�) '� '��"1� �!0 �!%��' �� ��$�0"�'�, ���� '� ������ ��%%(�� �!0 ��%1,"���  
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��������, ���� '� �!���%%)�( �%(�'��� �!0 �(%$,�, ���� '� $*(�'��� �!0 ���!%��' �� 
!�%$'��+, ���� '� !���-+�) � &� ���.0���&� ��� �����0�$*&� �$�"��+�&�. 
 
6.   �������
 �� ��
�
 ����	����� ������ 
      ��0������ ���  �� � � '��� %� ���"���'�1 �0',&� (3�#��� 1996). �����(�& ������� 
��(!�$2) ��$ '��� %�$ ' �& ��0� !���"���'���� [5]. 3� "�'��0 $!��1��%� ��$ ��.3(a) 
$!�,%+-) �� ���$�+ ����'��+ ����!0�)�). ��)� ���0�� �������� *������� )  ����) '0��') 
!���'0�*&�) �&� "��'+�&� �!%��'#� ��$ ��1%�$ %0�& �&� '��(%&� "���')���#� 
!���'��*#��&� ��$ �0',�$. ����'���!��+-)�� ) �����$�) '� ��!��0 ���!%�$�� '��"1� 
0!&� *������� ��� ��.3(b). 

        ��.3(a)    �����(����, %�!��' ����� �!%��'�1 "���'��$ �1 ��� ���0�� �������� ��$.  

        ��. 3(b)  �����(����, %�!��' ����� �!%��'�1 "���'��$ R�1 ��� ���0�� �������� ��$. 
 
�� ����1'���� "$�('��� ��� ��$�0"�'� ��$ !$�+�� ��$ �0',�$ ��) "����'+ �-� �!0 �(-� 
 �� �!0 ��$� "1� ')�����'�1� !���%�,+� � '��$��� *�������� ��� ��.4. �� �������1*&� 
����1'���� "$�('��� �����: 
  a) �!0 ��� ')�����'0 "���#���$ -%�!�+��: Dcy 

  b) �!0 ��� ')�����'0 "���$#'����: Dsy=T1+T2+T3+T4+(D1y+…Dvy) 
7�� ) �����0�$*) � '��$�� ��$ �0',�$ �����: 
       Vjv = Dcy+ Dsy                                                                                                              (12) 
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��# ) ���.0����: 
       Vjh = Dcx+ D1x+…Dvx                                                                                                  (13) 

        ��. 4    ����1'���� "$�('��� ��� ��$�0"�'� ��$ !$�+�� ��$ �0',�$ ��) "����'+ �-�   
                    �!0 ��$� "1� ')�����'�1�  
 
��&�#���� �'��0'��*) ������'+ �&� ��-#� ��� "���')���#� �(��&� ���( '+��� �)� 
��'+� �-� ��$ !$�+�� "����(��&� hc 4̀bc  ̀�0��: 

       �= 
Vjv

 hc 4̀bc`
                                                                                                                  (14) 

       �= 
Vjh

 hc 4̀bc`
                                                                                                                   (15) 

"����#���� ���( ' %) ��� (14) ��� (15): 

        �
�

 = 
Vjv

 Vjh
                                                                                                                      (16) 

���1��:       

       
Vjv

Vjh
 =

hb

hc
  =�                                                                                                                  (17) 

�$��!#� ) (16) �������:  
       � =�4�                                                                                                                           (18) 
�� ����1'���� �1���� �(���� ���( ��� "��$-1����� �&� �1��&� �20�&� ��)� �2���.0'��) 
!�����+ !���"����.����� ���*��( �!0 ��� �1�%� ��$ �ohr ��. 5 �����: 

        ��,��� = +
�

2  ±
�

2 1+
4�2

�
2                                                                                             (19) 

        ��. 5   �������+ ����!0�)�) ��������$ �)� �2���.0'��)� !�����+� ��� �2�'��&�) �)�  

                   ��'!1%)� "��2����+� �����+� ��$��" '���� '� !���,�%+ 5�$ ,�-'�1. 
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�!0 �� "�(���''� "��2����+� �����+� ��$��" '���� ��.5 !���1!��� 0�� � �%("�� �� ����� 
"$���0� �� $!��������-�� �!0 !���,�%+ 5�$ ,�-'�1. 8��� ��� ��� �%("� �$�0 ���1��: 

     -10
��
fc

 +
�
�
�

�
�
����

 fc
  

5

=1                                                                                                              (20) 

������-���#���� �)� (16) ��� (17) ��)� (18) ��� -�&�#���� �= � fc   !���1!���: 

      
5��
 fc 

 
�
�
�

�
�
�

1+
4

 �2  -1  + 
�
�
�

�
�
���

2 fc 
 
�
�
�

�
�
�

1+
4

 �2  +1    

5 
=1                                                         (21) 

3� ����'�����0 !�����0 �&� �$�"��+�&� ��$ �0',�$ &� !��� ��� !$�+��, !�$ ���.���� 
�!0 �)� �2&�����+ !���'���� ��$ �2&������1 �$�"��+�� �����: 

     �w= 
(4•220)50

 220•220•50 =0.018  

� �$���%���+� �12)�)� �)� �����+� ,(��� ��$ '��� %�$ �&� Scott, Park ��� Priestley �����: 

     � =1+
�w fyw

 f c̀
   =1+0.018•495/63 = 1.14                                                                       (22)  

7�� ) �����+ ��$ !����*��' ��$ ��$��" '���� ��$ !$�+�� ��$ �0',�$ �����: 
      f c=�• f c̀=1.14•63 =71.8�Pa                                                                                      (23) 

 � '��$�� ��$ �����$' ��$ �0',�$ 0��� ��)'���.���� !%�����+ (�-�&�) ��) "��0 �����:  
      Vy = %•As1•fy-Vcol                                                                                                          (24) 
0!�$: %=1.25–�$���%���+� $!�������+� ��� ��(�$��)� �(%$,� (ACI-ASCE Committee 352) 
�!��)� "������ �!0 �)�  �*���) (�C-8): 

      Vy = �cal fc A�0',�$                                                                                                       (25) 
�2��#������ ��� "1� ��&� �& ��*�(���� ��� ������-���#���� ��� ��' � �&� '���-#� 
!���1!���: 
      1.25•616mm2•500M9a-59.520N = �cal 71.8 •250mm•300mm=> �cal=0.51 
� %0��� �&� !%�$�#� ��$ !��� �����$�) �0',�$ �����: 
     �=hb/hc=1.20 
�!�%1������ �)� �� �) (21) ��� �=1.2 !���1!���: 
     �ult= 0.176 fc = 0.176 71.8 = 1.49 
�!��)�:  �cal/ �ult=0.51/1.49= 0.34< 0.5 
     3� '��� %� !��,% !�� �����!��)���( �)�  ���2) �)� �������� ��) "��0 ��� �cal<�ult + 
���� �0',� ��� �cal6�ult. �!��)� !����)�+-)�� 0�� ��� �cal:0.5�ult �%0�%)�) ) ,%(,) 
�!������#����� ��) "��0 �*+������ �� !�*� ��� �0',�. 
     7�� � !��,%�!0'���� �1!�� �������� ��$ �����$' ��$ "�'���1 $!��$�0%�$ ����� ) 
�'��+� ������� �)� "���1, �*0��� � %0��� ���������1 ���"���'�1 ����� �����( '���%1����� 
�)� '��("�� (�R=2.5)  ��.3(b). 
 
7.1.1  �����
�
 ������ ��� ��	������ ��������� 
      
 �������$+ '��"1� �!0 �!%��' �� ��$�0"�'� �� �0',�$� !%����&� �$��( �!���%�� 
�$� ���� ��$ '��"1� !�$  ��� ��)��'�!��)-�� ��� �)� �����$�) ��$ �����0�$*�$ ��������$ 
��$ �0',�$ [6].  
� �(� �� "���� ����� !�� �"1��'�� �!0 �� $!���$%#'��� ")%. �Myb< �Myc �0�� �� "����        
���(��$� ���.0���� � '��$�� "1��') ���� �0',�: 

       Vjh : �Myb �
�
�

�
�
�1

 zb
 -

Lb

 hst Lbn
                                                                                            (26) 

��� ) �����0�$*) � '��$�� "������ �!0 �)� �� �):  



 
�

�	����	�� �	��
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      Vjv = Vjh
hb

 hc
                                                                                                                  (27) 

) ' �) "���')���+ �(�) ���� !$�+�� ��$ �0',�$ ���1��� '�:  

      �j = 
Vjh

 bj  hc
                                                                                                                     (28) 

�  �(� �Myb> �Myc �� $!���$%#'��� ��-���.�$� �)� "���')���+  ����). 
 �����0�$*) 
� '��$�� "1��') ���� �0',� �����: 

      Vjv : �Myc�
�
�

�
�
�1

zb
 -

hst

 hst,n Lb
   +maxVg+/2q,b                                                                        (29) 

��� ) ���.0���� � '��$�� "������ �!0 �)� �� �): 

      Vjh = Vjv
hc

 hb
                                                                                                                                                                         (30) 

) ' �) "���')���+ �(�) ���� �0',� ���1��� '�:  

      �j = 
Vjv

 bj  hb
                                                                                                                                                                              (31) 

0!�$:   
� �Myb – (-����'� ��!#� "�����+� �&� "��#� !�$ �$��� ��$� ���� �0',� 
� �Myc – (-����'� ��!#� "�����+� �&� $!���$%&'(�&� !�$ �$��� ��$� ���� �0',� 
� hst   – �� 1/�� ��$ ��0*�$ 
� Lb ��� Lbn  – -�&�)���0 ��� ��-��0 '+��� "��#� 
� zb ��� zc – '��%�,�������� ��&�����#� "$�('�&� "���1 ��� $!���$%#'����  
� hb ��� hc – 1/�� "����'+� "���1 ��� $!���$%#'���� 
� bw ��� bc – !%(��� �)� "���1 ��� $!���$%#'���� �� ���.0���� "��1-$��) �(-��� ��� hc 
� bj=min[max(bw, bc), min(bw, bc)+ hc /2] – !%(��� �0',�$ 
     "��	��� ������
�� ��� ��
������. 
� 8����� "���#���� �*�%�$����+� �)�'(�&�)� ��$ !$�+�� (�!%�$ �0',�$, !�$ �$',����� 
0���: 

      �j 6 �c= fct 1+
vtop fc

 fct
                                                                                                                                               (32�) 

� 8����� "���#���� �*�%�$����+� �)�'(�&�)� ��$ !$�+�� �0',&� �!%��' �&� '� 
���.0����$� �$�"��+���, !�$ �$',����� 0���: 

      �j 6 �c= fct �
�
�

�
�
��jh fyw

 fct
  
�
�
�

�
�
�1+

vtop fc

 fct
                                                                                (32,) 

� 8����� "���#���� -%�/)� ��$ !$�+�� !�$ �$',����� 0���: 

; ��� �j > �c => �j 6 �ju = n4fc 1-vtop/n 0!�$: n=0.7- fc(M9a)/200                               (33�) 

      ; ��� �j < �c => �j 6 �ju = n4fc 1-vtop/n 0!�$: n=1                                                        (33,) 
0!�$:   
� �j – ' �) "���')���+ �(�) ���� �0',�  
� �c = vtop fc – ' �) �����0�$*) ��-+ -%�!���+ �(�) ���� �0',� 
� vtop – ��)�' �) �2����+ "1��') ��$ $!�����'���$ $!���$%#'���� 
� fct – �*�%�$����+ �����+ ��$ ��$��" '����  
� �jh = �sh / bj zb– ) �$��%��+ "����'+ �sh �&� ���.0���&� ���%#� �$�"��+�&� !�$ �����   
      !��(%%)%� ��� �����0�$*� �!�!�"� �)� �(�)� �j, ��)�' �) ��)� �!�*(���� �)�  
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      �����0�$*)� "����'+� bj zb ��$ �0',�$ 
� zb – �!0����) �&� �!%��'#� !(�& ��� �(�& ! %'���� �)� "���1 
� n – '��&���0� �$���%���+� �)� '����2����+� -%�!���+� �����+� %0�& ���(���&� 
�*�%�$����#� !���'��*#��&�. 

�� �� "����(���� ��$ �0',�$ "�� �2��*�%�.�$� �)� �!�*$�+ "���#���� �*�%�$����+� 
�)�'(�&�)� � ���.0����� �!%��'0� ��$ '��"1� ��)� !�����+ ��$ �0',�$ �����: 
       �jh = Vjh / fywd                                                                                                                                                                     (34) 
��� � �����0�$*��: 
       �jv = Vjv / fywd                                                                                                               (35) 
 
7.1.2 ������

  
      �����(�& -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$ ���� �0',� ��$ ��.3(,) '� ��� 
���!%�$�� '��"1� �� '�� !���!(-��� �1�����)� �&� �!���%��'(�&�. <!�$ $!(����  %%��/) 
"�"�' �&� -�&�+-)��� �$����� ��' �. 
      ���1��:   �Myb= 74.88 k�/m < �Myc= 93.60+93.60= 182.70 kN/m 
��&�+-)��: Lb=5m, Lbn=4.75m, hst=3.1m ��� '��( �!0 $!�%����'�1� !���1!��� 
'��%�,��������: zb=0.24m 
�!�' �&� �!0 �2.(26), (27) ��� (28) !���1!���: 

      Vjh =74.88
�
�
�

�
�
�1

0.24 -
5

 3.14 4.75  = 286 k�   ���   Vjv =
2864 0.3

 0.3  = 286 k� 

       �j = 
286

0.2540.3 = 3.8MPa 

0!�$: bj=min[max(0.25, 0.20), min(0.25, 0.20)+ 0.30 /2]=0.25m 
 �!��)� �!0 �2.(32,):  
      �j= 3.8�Pa <�c= 1.9 (1+0.003354 495/1.9)( 1+0.625416/1.9) = 6.5 MPa 
0!�$: �jh = 201 /(2504240)=0.00335  

��� $!�- ������: �d= -500 kN !���1!���:  �top= 
-50041.5

 0.340.25416000 = -0.625 

�!�' �&� �*�1 �j<�c ) �����$�) ���� �0',� �2��*�%�.�� �)� �!�*$�+ "���#���� 
�*�%�$����+� �)�'(�&�)�. �!��)� �!0 �2.(33,): 
      �j=3.8MPa < �ju = 164 1-0.625 = 9.8MPa 
7�� ) �����$�) ���� �0',� �2��*�%�.�� ��� �)� �!�*$�+ "���#���� -%�/)� ��$ !$�+��. 
�$'!����'����( �!�%)-�1���� ��� '� �$�+ �)� ' -�"� 0�� ) �����$�) ��$ �0',�$ ��$ 
��.(3�) ����� �����!��)���+.  
 
7.2.1  �����
�
  ������ ��		���� ��� ��	������ �������� 
      3� ������ ��%%(�� !����*����$� �)� !�����+ ��$ �0',�$ '� �!�� %��'� �� �$2(����� ) 
!%����'0�)�� ��� �� ,�%��#������ �� �$�-+��� ���1�&�)� �&� "��'+�&� �(,"&� �&� 
"��#� !�$ ����%+��$� ���� [6]. 
      �� �2&������1� �0',�$� �*��'0.���� '� �! ����) �)� "���1. �� �� �����0�$*� 
�������� "�� �$����.���� ���� ��&� �� 0��*�, ������� �! ����) ��� �$��1 ��$ ��������$ 
«3�����
 3
� ������9��». 

 �*�%�$����+ "1��') �����:  

     Fj"=Vjh4
h"
 hc

 = Vjv4
h"
 hb

                                                                                                     (36) 


 �!����1'��) "����'+ �&� ��%1,"��&� �������&� �� �(-� "���#��� "��1-$��) �����: 

     �j" =
Fj"

 �Rd fyd
                                                                                                                  (37) 



 
�

�	����	�� �	��
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0!�$:  
� h" – '+��� �)� "���&���$ ��$ �0',�$ 
� �Rd =2 
 
7.2.2 ������

 
      -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$ ���� �0',� ��$ ��.3(�). �!0 �2.(36) ��� (37) 
-�&�#���� fyk = 400MPa !���1!���: 

      Fj" =
28640.36

 0.3  = 343.2k�    ���     �j" =
343.241.154106

 24 4004103  = 494mm2 

 
7.3.1 �����
�
 �����		
��� �	������� ��� ��	��� 
      3� *1%%� �(%$,� !����'#���� �� ����� �$'�����"�1� '��*+� %0�& �)� '���%1���)� 
��$� ���(����� "$���'/��� [6]. 3� �!����1'��� !(��� �����: 

       t�% 6 max 
�
�
�

�
�
�Vjh

 hb �jd
 ,

Vjv

 hc �jd
                                                                                          (38) 

0!�$:  
� �jd  = fyd / �Rd 
� �Rd = 1.5 
 
7.3.2 ������

 
      -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$ ���� �0',� ��$ ��.3(�). ��&�#����  
fyk = 460�Pa �!0 �2.(38) !���1!���: 

      t�% 6 
2864103

 0.342674103 = 3.6 mm �*�1 hb = hc 

0!�$: fyd = fyk /1.15=460/1.15= 400 MPa ��� �jd  = 400/1.5=267 MPa 
 
7.4.1  �����
�
  ��������� ��� ����	������ ��	����
 
      3� !(��� ��$ �!����1'���$ $*(�'���� '� ���� !��(%%)%�� !��� ��� (2��� �)� "���1   
����� [6]: 

       tjh =  
Vjh

 bd �jd
                                                                                                                                                                        (39)     

��# '� ���� !��(%%)%�� !��� ��� (2��� ��$ $!���$%#'���� �����: 

       tjv =
Vjv

 bc �jd
                                                                                                                   (40) 

�!���1� �� ��)��'�!��)-�1� ��� $*(�'��� '� ���� !��� ��� "1� �1���� "��$-1����� ����� 
�� ��%1!������ �� �!���+���� ��$ !(��$� ��( "��1-$��). 
�!��)�:  �jd= �j4�jd,   �jd= �j,crit/�Rd,   �j,crit= Kv4�j,max   ���   �j,max= min{�ju, 1.5%} 
0!�$:  
� �jd- ��'+ ���"���'�1 �)� ������1 �(�)� ��$ �!%��'�1 �����$�)�  
� �j- ' ��� �%�����0�)��� ��$ $%���1 �����$�)�  
� �ju- ' ����) �*�%�$����+ !���'0�*&�) $%���1 
� Kv=0.5– �$���%���+� ������'+� !���'��*#��&� ���( '+��� �)� �����')� %�2+� 
�&�'+�   

� �j,crit –�����') ��'+ !���'0�*&�)� $%���1 
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7.4.2  ������

 
      -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$ ���� �0',� ��$ ��.3(�). �!�- ��$'� 1*��'� 
�1�-��&� $%��#�, !(��$� 0.12 mm, '� ���� (�-����, �f = 230GPa, �*�%�$����+ �����+ 
���"���'�1 ffd = 3200MPa ��� �j,crit = 1.4%. �!��)� ������� “ ������+ ” �����$�) ��� �)� 
�!��� �2��*�%�.���� ) !%+�)� ���1�&�) �&� (��&� ��$� ��� $*���('��� �������� 
��$��" '���� �% ������� ��� 0%�$� ��$� ��"��0'���$� ��0!�$� �������� �!0�� -�&������ 
��� “ �%����+ ” �����$�).  
�!0 �2.(39) ��� (40) !���1!���: 

      tjh = tjv = 
2864103

 0.204 2.24106 =  0.65mm  �!�' �&�:  n= 0.65/0.12= 5.4mm ")%. 6 ���#����  

0!�$: �jd= 1.4%/1.5= 0.94%     �jd= 2304106
40.94%= 2.24106 kN/m 

 
7.5.1 �����������
 “��
�” ������
� ��� �����
�
 ��	����� 
      
 �$��%��+ "����'+ �&� ���.0���&� ���%#� �$�"��+�&� ����� [6]: 

       �jh,tot 6 
�Rd Vjh

 fywd
                                                                                                           (41) 

��� �&� �����0�$*&�:  

       �jv,tot 6 
�Rd Vjv

 fywd
                                                                                                            (42) 

0!�$: �Rd = 1.5 
 
7.5.2   ������

 
      -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$, ���� �0',� ��$ ��.3(�). �!�- ������  
fyw= 495�9�, �!0 �2.(41) ��� (42) !���1!���: 

      �jh,tot  & �jv,tot 6
1.5428641.154106

 4954103  = 997mm2     

 
8.1.1 �������
  ������ �� FRP  
      �� ���� ������-����1� ��� �%%�!+ ���(���� �!%��'0 ���� �0',�. �1'*&�� '� ��$� Park 
&  Paulay [1974], ) � '��$�� ��$ �0',�$ ���1��� '� �)� "��*��( �)� ' ����)� "1��')� ��$ 
�(�& �!%��'�1, �!��� !����� 25% $!�������+ ��� ��"���, '� �)� � '��$�� "1��') ��� 
$!���1%&'� ")%.[4]: 
      Vj=1.25 As fy-Vcol                                                                                                          (43) 
0!�$: 
� As-) �!�*(���� ��$ "��'+�) �*�%��1'���$ �!%��'�1 �)� "���1 
� fy- 0��� "�����+� ��$ �(%$,�      

 �$��%��+ � '��$�� ��������)� ��$ �����$' ��$ �0',�$ ���%�',(����� �!0 �)� 
�$�����' �) �)� � '��$��� ��������)� ��$ ��$��" '����, Vc, �)� �$����*��( ��$ 
���(����$ �!%��'�1, Vs, ��� �)� ��������) !�$ !�� ������ �!0 ��� ����, Vf : 
      Vj = Vc+ Vs +Vf                                                                                                             (44) 

 "1��') !�$ '���* ��$� �� �$�"��+���  Vs=0, �(� "�� $!(���� ���(����� �!%��'0� ���� 
�0',�. 
 Vc %�',(������ ��� �*��'�.0'���� �2���� � �(���� �����: 

     Vc=0.24(1+
3fcol

 fc
 )4b4dj4 fc                                                                                             (45) 

0!�$:  
� fcol - �� ������� � �(���� ��� $!���1%&'� %0�& ��$ �2�����1 *�����$ 
� b - �� !%(��� ��$ �0',�$ 



 
�
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� dj – �� �����0 1/�� ��$ �0',�$ 
3� �!����1'��� �',�"0� �&� ��#� ���( �� 1/�� ��$ �0',�$ �����: 

      Af = 
Vf 4s

 *f4dj4fu
                                                                                                                                      (46) 

0!�$:  
� fu - �*�%�$����+ �����+ ��#� 
� s - 1/�� �0',�$ 
� *f = 0.8 - �$���%���+� ��������)� !�$ ��� �� GFRP $%��0  
�� �� ���� �&� ��)��'�!���1'��&� $*��'(�&� ����� ������')' ��� �� "1� "��$-1�����, ) 
� '��$�� "1��') ��$ �0',�$ ���%1���� �� "1� �(-���� �$����#���, �� �!���� �! ��$� 45° 
�!0 ��� �����0�$*� (2��� ��$ $!���$%#'����.  
 
8.1.2 ������

 
      -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$ ���� �0',� ��$ ��.3(�). �!0 �2.(43), (44), 
(45) ��� (46) !���1!���: 
      Vj= 1.2546164500-59520= 325.48kN 
      Vc= 0.24(1-340.625/ 16000)40.240.34 16000 =1.33 kN 
      Vf = Vj –Vc= 324.15kN  

      Af = 
324.15 40.34106

 0.840.3432004103 = 116mm2 ")%. !(��$� 116mm2/300mm= 0.4mm 

7��: 0.40/0.12=3.3mm ")%. 4 ���#����  
 
8.2.1 �������
 ������ �� FRP 
      8��� (%%�� ��0!�� ���"���'�1 '��"1� '� FRP �!����� �)� ��#�) �)� � '��$��� ��$ 
�0',�$ �&� "���'�&� Vu  0��� ��)'���.���� !%�����+ (�-�&�) ��) "��0 [7]. 
 
���%�',��0'��) � '��$�� �!0 ��� �����$' �� �0',� �����:  

       Vi=k4 fc 4b4d+cot-4 
Ay4fy4d

 s  +tw4Ew4�p4h4cot-                                                              (47) 

� 1�� 0���: �����+ ��$��" '���� �� "�(�')�)  
� 2�� 0���: �����+  $!(������� �!%��'�1 (�$�"��+�&�) 
� 3�� 0���: �����$�) '� '��"1�� FRP 
�!����1'��) �����+: V� 6 Vu 
  
8.2.2  ������

 
      �!0 "���'+ !�$ !���'���!��+-)�� ���� �0',� ��$ ��.(3�) [7] !����)�+-)�� 0�� ) 
� '��$�� ��$ �0',�$ ��$ "���'��$ 0��� ��)'���.���� !%�����+ (�-�&�) ��) "��0  ��� �)� 
��'+ Vu= 209.26kN. �!0 �2.(47) !���1!���: 
       209.26 = 0.140.240.17 16000 +tw42304106

40.01440.241.732   => tw= 0.19mm 
7�� 0.19/0.12=1.6mm ")%. 2 ���#����  
0!�$: 
� k=0.1 &� !�����+ !%�����+� (�-�&�)� 
� � 2�� 0��� ����� ���� '� ')" � %0�&  %%��/)� �$�"��+�&� 
� -=30°-�&��� '���21 ��$ (2��� ��$ $!���$%#'���� ��� �)� "��1-$��)� �&�            
      ���'��0'��&� %�2#� �&�'#�, cot-=1.732               
� �w=230 G9a= 2304106kN/m2– �� ' ��� �%�����0�)��� ��$ $%���1 !�$ ��)��'�!�������  
      ��� ��� '��"1�.  
� �p=1.4% 
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9.1   ���������� ��  ��	������  ���������
 �	������ 
      3� ��%1,"��� �$'�����"+ �%(�'��� ���"�(��)��� ��� �� !�� ��$� �)� �!�����)�) 
!����*�2) ��� "���')���+ �����+ ��� �� $!���1%&'�, �)� "��0 ��� ��� �0',� [2], [8]. 
 
�12)�) �)� "���')���+� �����+� !�$ !�� �����, ����'(��� -�&�#���� �� �%(�'��� 0�� 
%����$���1� ��� '�� ����( �!0 �� ����. �$�+ ) �12)�) $!�%���.���� �!0 �)� !����(�& 
�� �): 
      Vsj = 24 fyj4 h4 tj                                                                                                              (50) 
0!�$: 
� fyj – 0��� "�����+� �%��'(�&�  
� h – 1/�� "����'+� ��$ !��� �����$�) ' %�$�  
� tj – !(��� �%(�'���� 
     3� !(��� ��$ �%(�'���� "������ �!0 �)� ��0%�$-) �� �): 

     24tj 6 k4
fc 4̀h
 fyj

 
�
�
�

�
�
�Nd

 f c̀4Ag
 -0.08                                                                                            (51) 

0!�$:  
� k=0.35  
� Nd– �2����+ "1��')   
� Ag – "����'+ ��$ $!���$%#'����  
 
9.2  ������

 
     -� ����� ) �*��'��+ �)� ��&� �& '�-0"�$ ���� �0',� ��$ ��.3(�). �!0 �2.(51) 
-�&�#���� fyj = 460MPa !���1!��� : 

      tj 6 0.35
1600040.3
 24460000 

�
�
�

�
�
�500

 1600040.240.2 -0.08  103= 1.3mm 

 
10.   ������������  
      8���� '�� !���!(-��� !���$����)� '�-0"&� �����$�)� �0',&� ' �& �)� �*��'��+� 
��$� ��  ��� ����0 �0',� ��)��'�!��#���� �� 0%�� ��� '�-0"�$� �"��� "����(���� �0',�$, 
����1'���� "$�('��� ��� ��! �, ')����� � �"�0�)��� ��$��" '����, �(%$,�  ��� 0%&� �&� 
$%��#� �����$�)� #��� �� ����� "$���+ ���(  �� !�����0 '�� !�#�) ����')�) ��� �1�����) 
�&� �!���%��'(�&�. � �0',�� �$�0� �!�% ��)�� �� ����� �� "���'�� ��$ ��.(3�). 
      ���( �!0 ���$�+ ����'��+ ����!0�)�) ��� "���'��,   �����$' ��   '� ���!%�$�� '��"1� 
��� '� �)� �����&�+ !�0�-��&� �$�"��+�&� ���� �0',� ��� ���� ��1%� , 0!&� 
!���$��(��)�� ��)� §6 !�� �$/� ) �'��+� ������� �)� "���1 �(�� !�$ +��� �!�-$')�0. 
�!�!% �� !���'���!��+-)��  %����� �)� �!(������ �)� ��&� �& �����$�)�  ��)�  §7.1.2 
��� !�� �$/� ) �����$�) �!���+� �� "���#��� -%�/) ��$ �0',�$ ��� �� �!%��'0. 
      �!��)� �*��'0��)��� ���%%�������  ��0!�� �����$�)�  0!&� ) !���-+�) ������ 
��%%(�&� �!0 �(%$,� §7.2.2 ��� �!����(����) “��)�” "����'+� ��� !���-+�) �!%��'#� 
§7.5.2. �"������� ��)� ' -�"� !���-+�)� �!���%%)�#� �%��'(�&� �!0 �(%$,� §7.3.2 ��� 
§9.2  ��� $*��'(�&� �!0 ���!%��' �� !�%$'��+ §7.4.2, §8.1.2 ��� §8.2.2  $!(���� ) 
"$���0�)�� �1�����)� !��0'��&� '�-0"&�. 3� �!���% �'��� �$�#� �&� '�-0"&� "�� 
!���$��(.�$� '��(%) �1��%��) 0!&� *������� ���� ����������� !�����(*�$�. �$�0 !�-��0� 
�*��%���� ��)� "��*������0�)�� �&� '�-0"&� , ���� ��0!� $!�%����'�1 �)� � '��$��� ��� 
(%%&� ,����#� '���-#� ��� ���$� �$���%��� � ��*�%����  !�$ -�&��� �(-� ' -�"��. 
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